BX

EAH A oA BC o] W& &
AABD 2} AACD ©JlA]

/B =/C,
(ADB =| (7}

(BAD =

(=)
mHebA] AABD = AACD (
(B=/C

(*h)

L S
1T O O

A7Eg 0] A tizte] A7)0 e

. BABC & o] 547},

Fh ~ Epoll Eo1Z Aoz 2] 2 A2?
® (@Y2ADC @ (Lh180 @ [).CAD
@eia ® EIASA

~&B

AABD 2} AACD ©f|A]

/B = /C,

(ADB = ( £ADC))

A2 o) Al Yzte] 2719 &
/BAD = ( L.CAD )

( AD )1— _T'_E

wehA] AABD = AACD ( ASA
AABC £ o4z ol

T2 A oA BC of & 419

= (180 )° o]B=E

#E) 1B




ool 5%t

AABCE

oA AAB'CV-&

- 14

=

2.

[B= @

AB’ ©

Z AB =

A 7 Aole

AB =

AB 7}

o]k,




& JHoA AB = AC, BC = BD o]
/BCD =70° ¢ W, LABD 9] 27]+=?

@30° @ 32° ® 34° @ 36°

~&B

BC

® 38°

ABCD £ o| a8 Zgo|ng
/BDC = 70°

/CBD = 180° - 2 x 70° = 40°
T AABC £ olsHAZ ol B2
(ABC = /ACB =70°

watA LABD = 70° —40° = 30°




t}& 78} ZHo] AB = AC ¢l AABC oA ¥ N
AB 9o A P & Fol P & 2 UJHA BC 9
FZ10] F o] ¥ BC, ¥ CA 9 AAMAY} gt
ZkZF M, N olgt & of, th-2 F &4
1299 (Y 27) /

_;

rlo rlr

Ao 7
=
o
=

PR E
B
—1r1

B

(@)AP - BP @ AP=AN
® /BAC = 2/ANP @ /ANP = /APN = /BPM
@ANCM = APBM

~&B

(C = zx 211 S} AABC = o|GHAZAFo|ER /C = /B =
/x ,/BAC = 180° - 2/x

ABPM ©f|A] /BPM = 90° - /x & /BPM = /APN (ZE2]Z})
AAPN 9|4 /BAC = /APN + /ANP ©]22

180° — 2/x = (90° — 2x) + LANP

LANP =90° — /x

. /ANP = /BPM = /APN , /BAC = 2/ANP

AAPN oA F Zte] 27|17t FoB = o] FHAAY

AP = AN




o2 1o A H O &= AABC &) 4ot}
/OAB =25°, /OBC =404 0, ,C & 2
717

® 45° @ 50° @ 55°

@ 60° (@)65°

40°

e}
Q

B

OC £ °|leH

LOAB + £OBC + /OCA = 90° 0|22
25°440°+ /OCA =90°, /OCA =25°
(OBC = /0CB =40°

. /C=/0CB+ /tOCA =65°




6. T2 1389 AABCOA H 0= Aot LOAB = 35°, ,OBC =
25°d o, ,C9 A7|=?

A
35,

v
k)
Q

®1w0°  @4° @5 @m0 ©ec

~&B

(C = x2 & If, AOBC7} o] 5HAZIF 0|22 /OBC =
+OCB

whEhA] zx = 25° 4+ LOCA,

LOAC+35°+25°=90°

/OAC = /OCA =30°

S /x =55°




7. S AtthE]E ABCD ©|4 AD//BC, AO : OC = 1 : 2 0|1
ADOC = 12cm? o|t}, Athe]&E ABCD 9] Hol&?

® 32cm? @ 48cm? 3®)54cm?

@ 63cm? ® T72cm?

B ~
1:2=AA0D :12cm? , AAOD = 6cm?

ADOC = AAOB = 12cm? , 1: 2 = 12cm? : ABOC , ABOC =
24cm?

OABCD = 6 + 12 4 12 + 24 = 54(cm?)




Afthe]E ABCD += AD//BC ©]1, BO : OD = 3: 2 o|]t}. AODC =
18cm? & wj, AOBC 9] {ol]&?

A D
(0)
B C
@® 9em? @ 18cm? 3)27cm?
@ 36cm? ® 45cm?

AOBC ¢} ADOC 9] &=0]|+= Zrt.
3:2=A0BC : 18cm? - AOBC = 27cm?




th-S 170X LABC = /AED ¥ o, F-& A

-4
A7V 7158 e T x o] Zol? N
5
@ 2cm @) 3 cm ® 3cm
7 16
(@) 5 cm ® gcm

AABC & AAED (AA §2)
AB :AE = AC :AD,
(x+6):4=17:6
6x + 36 = 68 ,6x = 32

16

x= —(cm)




10. oh 197 22 BPAPAR ABCD oI A ML BC o] F7ol
BD = 12cm ¥ ©], BO 2] Zo|& 15}1H?

@ 3cm @)4cm ® 5em @ 6cm ® 7cm

AD //BCo]E2 /OAD = /OMB (%17}, /ODA = /OBM (91
7

wakA AOAD &2 AOMB ©]t}.

AD:BM=2:1°]2& DO:BO =2:1°]t}.

BD =3BO =12

.. BO =4(cm)




